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West Bengal Police SI (Prelims) Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (b) ²Ì!“þ£yîû î‚öìŸîû ²Ì!“þÛþy“þy !Šéöìœ˜ ²Ìí› ˜y†¦þRÐ ~£z î‚Ÿ
vþz_îû ~î‚ þ™!Øþ› ¦þyîûöì“þ îûy‹c „þöìîû!ŠéœÐ

2. (b) ò!îû£y¨ î¤y•ó vþz_îû²Ìöì”öìŸ xî!ßþi“þÐ
 ~!Ýþ ö†y!î¨ îÍÔ¦þ þ™sþi ¢y†îû ˜yöì›ç þ™!îû!‰þ“þÐ
 ~!Ýþ xyëû“þöì̃ îû !”„þ öíöì„þ ¦þyîûöì“þîû î,£_› î¤y•Ð
 ~!Ýþ öŸy˜ ˜”#îû vþzþ™˜”# !îû£y¨ ˜”#îû “þ#öìîû xî!ßþi“þÐ

3. (a) ~!Ÿëûy˜ övþöì¦þœþ™öì›rÝþ îÄyBþ 19 !vþöì¢Áºîû– 1966 ¢yöìœ
²Ì!“þ!Ûþ“þ £ëûÐ ~!Ýþîû ¢”îû ”®îû !šþ!œ!þ™öìªîû ›Äy!˜œyöì“þ
xî!ßþi“þÐ

4. (a) ¢›“þœ ”þ™Å’ myîûy †!àþ“þ ²Ì!“þ!îÁº!Ýþ ¢îÅ”y x¢” ~î‚ ¢›Ÿ#¡ìÅ
²Ì„,þ!“þîû £ëûÐ

5. (d) î!œvþzvþ “þyîû„þy ¢O˜y ¢yA‡# ößþ™¢ £z!uþëûyîû îÊÄyuþ xÄyÁºy¢yvþîû
!£öì¢öìî !˜ë%_« £öìœ˜Ð
ößþ™¢ £z!uþëûyîû ¢£ ²Ì!“þÛþy“þy Ÿy!œ˜# îy£ÁºyÐ
›Äyöì̃ !‹‚ !vþöìîûQîû !Ÿî› =® ~î‚ !›“%þœ ÷‹˜Ð

6. (d) “,þ“þ#ëû þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜y ò†Äyvþ!†œó öëy‹˜y ˜yöì›
þ™!îû!‰þ“þÐ †Äyvþ!†œ öëy‹˜yîû vþzöìjŸÄ !Šéœ „,þ!¡ì– ö¢£z¢yöìí
†öì›îû vþzêþ™y”˜ î,!kþ „þîûyÐ

7. (c) ö£!›¢ ‹y“þ#ëû vþz”Äy˜!Ýþ œy”y… ö„þwŸy!¢“þ xMþéöìœ xî!ßþi“þÐ
~!Ýþ ¦þyîûöì“þîû î,£_› ‹y“þ#ëû vþz”Äy˜Ð ~!Ýþ ößþ¬y öœþ™yöìvÅþîû
‹˜Ä !îÙ»îÄyþ™# !î…Äy“þÐ

8. (b) þ™y˜y›y …yœöì„þ ò²ÌŸyhsþ ›£y¢y†öìîûîû ²ÌöìîŸ myîûó îœy £ëûÐ
þ™y˜y›y …yœ xyÝþœy!rÝþ„þ ›£y¢y†îû ~î‚ ²ÌŸyhsþ ›£y¢y†öìîûîû
›öì•Ä ~„þ!Ýþ ¢‚!Çþ® þ™íÐ

9. (a) „þyçëûy¢ “þyþ™!î”%Äê ö„þw ¦þyîûöì“þîû =‹îûyÝþ îûyöì‹Äîû ¢%îûyÝþ
ö‹œyëû xî!ßþi“þÐ ~!Ýþ ˜ÄyŸ˜yœ íy›Åyœ þ™yçëûyîû „þöìþ™ÅyöìîûŸ˜
myîûy þ™!îû‰þy!œ“þÐ ~!Ýþ =‹îûyÝþ îûyöì‹Ä !î”%Äê ¢îûîîûy£– !î!¦þ§¬
!ŸÒ ç †,£ßþiœ#öì„þ ¢£yëû“þy „þîûyîû öÇþöìe =îû&cþ™)’Å ¦)þ!›„þy
þ™yœ˜ „þöìîûÐ

10. (a) çëûyÓÅþ !„þvþ!˜ övþÐ
11. (c) ›•Ä²Ìöì”öìŸ ¢îÅy!•„þ ¢‚…Ä„þ îy‡ ¢‚îûÇþ’ „þîûy £öìëûöìŠéÐ

›•Ä²Ìöì”Ÿ òÝþy£z†yîû öÞÝþÝþó ˜yöì› þ™!îû!‰þ“þÐ ~£z îûyöì‹Äîû ›öì•Ä
6!Ýþ îy‡ ¢‚îûÇþ’y†yîû îûöìëûöìŠéÐ

12. (a) £yîû›yÝ%þ˜öì„þ òvþy_«yîû îyëû%ó îœy £ëûÐ £yîû›yÝ%þ˜ îyëû% ÖÜñ ç
•)!œ„þ’yþ™)’Å îyëû%Ð ~!Ýþ vþz_îûéôéþ™!Øþ› xy!šÊþ„þyöì“þ ²Ìîy!£“þ
£ëûÐ

13. (d) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû “,þ“þ#ëû x•Äyöìëû (Part-III) 12-35
˜‚ •yîûyëû ö›ï!œ„þ x!•„þyöìîûîû !î¡ìëû !˜!£“þ îûöìëûöìŠéÐ
 “,þ“þ#ëû x•Äyëû!Ýþöì„þ ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû ²Ì•y˜ ¢˜” îœy
£ëûÐ
 ö›ï!œ„þ x!•„þyîû!Ýþ xy”yœ„þ „þ“,Åþ„þ îœîêöìëy†ÄÐ

 ö„þyöì̃ y îÄ!_« ë!” ›öì̃  „þöìîû̃  “þyîû ö›ï!œ„þ x!•„þyîû
œA‡˜ £öìFŠé “þy£öìœ !“þ!˜ ¢%!²Ì› ö„þyöìÝÅþîû S32V ˜‚ •yîûy
£y£zöì„þyöìÝÅþîû S226V ˜‚ •yîûyëû myîûßþi £öì“þ þ™yöìîû̃ Ð

14. (a) ÷¢ëû” xy£öì›” …y˜ 1857 !…Êƒ ›£y !îöìoyöì£îû ¢›ëû !“þ!˜
!î‹öì̃ yîûéôé~îû ¢”îû xy!›˜ þ™öì” !Šéöìœ˜Ð !“þ!˜ ›%¢!œ›
¢›yöì‹ ˜yîû#îû ßþºy•#˜“þy ç ˜yîû# !îhßþyöìîûîû þ™öìÇþ ~î‚ þ™”Åy
²Ìíy– îý!îîy£ ç þ™b#öì„þ “þyœy„þ ö”çëûyîû !îîû&öìkþ ›“þy›“þ
îÄ_« „þöìîû̃ Ð !“þ!˜ “þy£!‹îéôéxyœéôéxy…œy… ˜yöì› ~„þ!Ýþ vþz”Å%
þ™!e„þy ²Ì„þyŸ „þöìîû̃ Ð 1877 !…Êƒ xy!œ†öìvþü ›£yöì›vþy˜
xÄy‚öìœy ç!îûöìëûrÝþyœ „þöìœ‹ ²Ì!“þÛþy „þöìîû̃ Ð ~£z „þöìœ‹!Ýþ
1920 !…Êƒ xy!œ†vþü ›%¢!œ› !îÙ»!î”Äyœöìëû þ™!îû’“þ £ëûÐ
“¤þyöì„þ !méôé‹y!“þ“þöìcîû ‹˜„þ îœy £ëûÐ

15. (a) 22 ~!²Ìœ £zvþz̃ y£zöìÝþvþ ö˜Ÿ˜öì¢îû “þîûöìšþ ¢yîûy !îÙ»‹%öìvþü
þ™y!œ“þ £œ  World Earth Day-2024Ð ~îŠéöìîû ~£z
!”îöì¢îû !í› £œ Planet vs. Plastics.

16. (d) 1971 ¢yöìœ xíÅyê ‰þ“%þíÅ þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜y„þyöìœ †!îû!î
£Ýþyç ößþÔy†y˜ “%þöìœ!Šéöìœ˜ £z!¨îûy †yõþ#Ð
þ™Mþé› þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜yöì“þ ”y!îûo ”)îû#„þîû’ ç ßþº!˜¦Åþîû“þy
x‹Å̃  öëïí œÇþÄ !ŠéœÐ

17. (b) xyëÅ¦þR !Šéöìœ˜ ²Ìy‰þ#˜ ¦þyîûöì“þîû ö×Ûþ †!’“þŸyßþf!î” ç
ö‹Äy!“þ!îÅKþy˜#Ð !“þ!˜ ßþñ¨=öì®îû îûy‹¢¦þy xœB,þ“þ „þöìîû̃ Ð
!“þ!˜£z ²Ìí› þ™,!íî#îû îy!¡ìÅ„þ †!“þîû îÄy…Äy „þöìîû̃  ~î‚ ~„þ
öíöì„þ ˜ëû þ™ëÅhsþ ¢‚…Äy=!œ !“þ!˜£z ²Ìí› î’Å̃ y „þöìîû̃ Ð

18. (d) îûyÁ¿y› ‹œ!î”%Äê ²Ì„þÒ!Ýþ ”y!‹Å!œ‚ ö‹œyëû xî!ßþi“þÐ
19. (b) ›£yîûyÜTÉ

vþzþ™m#þ™#ëû ›yœ¦)þ!›îû vþz_îûéôéþ™!Øþ›y‚öìŸ !î”yîû x@À%Äêþ™yöì“þ
¢!Mþé“þ „þyöìœy îÄy¢ÎÝþ œy¦þy ¢!Mþé“þ £öìëû „þyöìœy›y!Ýþîû ¢,!ÜT
£ëû ëy öîû=îû ›,!_„þy îy „,þ¡Œ›,!_„þy ˜yöì› þ™!îû!‰þ“þÐ ~£z ›y!Ýþ
“%þœy‰þyöì¡ìîû þ™öìÇþ ¢îöì‰þöìëû vþzþ™öìëy†# „þyîû’ ›y!Ýþîû ‹œ•yîû’
Çþ›“þy öî!ŸÐ ›£yîûyÜTÉ– =‹îûyÝþ– „þ’ÅyÝþöì„þîû vþz_îûy‚öìŸ £z“þÄy!”
xMþéöìœ ö”…y ëyëûÐ

20. (b) ‹yþ™y˜ ¦þyîû“þ#ëû þ™ëÅÝþ„þöì”îû ‹˜Ä £zéôé!¦þ¢y ‰þyœ% „þîûœÐ !¦þ¢y
xyöìî”˜ ²Ì!e«ëûyöì„þ ¢£‹“þîû „þîûyîû vþzöìjöìŸÄ ~£z ²Ì!e«ëûy
@ùÌ£’ „þîûy £œÐ

21. (c) šþy£z!îÊöì̃ yöì‹˜ îû_«îûöì¢ íyöì„þÐ šþy£z!îỄ  ‡˜ ‹yœöì„þîû xy„þyöìîû
îû_« „þ!’„þy=!œöì„þ xyîkþ „þöìîû šþöìœ ‹›yÝþ öî¤öì• ëyëûÐ

22. (b) îûy£zöìîyšÏþy!î˜
B2 !¦þÝþy!›öì̃ îû îûy¢yëû!˜„þ ˜y› îûy£zöìîyšÏþy!¦þ˜Ð ~îû x¦þyöìî
›y˜%öì¡ìîû !‹£ýîû ‡y £ëûÐ

23. (d) ¡ìÛþ
~£z ²Ì„þÒ!Ýþîû œÇþÄ ²Ì!“þ!Ýþ þ™!îûîyöìîû ²Ì!“þîŠéîû „þ›þ™öìÇþ 100



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 3  ‹%œy£z– 20242

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

!”öì̃ îû ›‹%!îûîû „þ›Å¢‚ßþiyöì̃ îû ›y•Äöì› @ùÌy›#’ xMþéöìœ ‹#!î„þy
ç ¢%îûÇþy îyvþüyöì̃ yÐ

24. (b) öœy„þ¢¦þyîû !ßþ™„þyîû
25. (b) ›Äyœ„þ› ~î‚ ~!œ‹yöìîí xy!”öìŸ!Ÿëûy ÝþÆyöìÞÝþîû “þîûöìšþ

² Ì„ þy!Ÿ“þ £œ ›Äyœ„þ› xy!”ö ìŸ!Ÿëûy ˜ ÄyŸ˜yœ
xÄyçëûyvÅþéôé2024Ð x•Äyþ™„þ ¢%!îû̈ îû ~¢ ö‹y•„þy ›Äyœ„þ›
xy!”öìŸ!Ÿëûy þ™%îûßþñyöìîû ¦)þ!¡ì“þ £öìœ˜Ð

26. (a) xyœyvþz!j˜ …œ!‹
xyœyvþz!j˜ …œ!‹îû Ÿy¢˜„þyœ 1296-1316Ð !“þ!˜ !Šéöìœ˜
…œ!‹ î‚öìŸîû !m“þ#ëû ~î‚ ¢îöì‰þöìëû Ÿ!_«Ÿyœ# Ÿy¢„þÐ !ë!˜
!”!ÍÔöì“þ îöì¢ ¦þyîû“þ#ëû vþzþ™›£yöì”öìŸ …œ!‹ Ÿy¢˜ îÄîßþiy
þ™!îû‰þyœ˜y „þîûöì“þ˜Ð !“þ!˜ !˜öì‹öì„þ !m“þ#ëû xyöìœ„þ‹yuþyîû
S!¢„þy¨îûéôé£éôé¢y!˜V !£öì¢öìî þ™!îû!‰þ“þ „þîûyîû ö‰þÜTy ‰þy!œöìëû
ëy˜Ð
“þyîû îûy‹Äy!¦þöì¡ì„þ £ëû 21 xöìQyîîû 1296 ¢yöìœÐ “þyîû •›Å
!Šéœ ¢%!§¬Ð

27. (d) !šÊþëû̃
~!Ýþ !ßþi!“þŸ#œ– „þ› !î¡ìy_« †Äy¢ îy “þîûœ ëy ¢y•yîû’“þ
öîû!šÊþ‹yöìîûrÝþ !£öì¢öìî ~î‚ ~öìîûyöìšþœ ö²Ìyöìþ™öìœrÝþ¢ !£öì¢öìî
îÄî£*“þ £ëûÐ

28. (a) 108 ˜‚ •yîûyëû ë%@Â x!•öìîŸöì̃ îû „þíy îœy £öìëûöìŠéÐ
 Dead lock Situationéôé~ öëïí x!•öìîŸ˜ xy£ý˜ „þîûy
£ëûÐ
 ~öì“þ ¢y•yîû’ ¢‚…Äy†!îûÛþ“þyëû !îœ!Ýþ þ™yŸ £ëûÐ

29. (a) ßþºy›# ¢£‹y˜¨
¢£‹y˜¨ ¢îûßþº“þ# 1936 xœ £z!uþëûy !„þ¡ìy’ ¢¦þy îy
(AIKS)éôé~îû ²Ì!“þÛþy“þyÐ

30. (a) =‹îûyöìÝþîû „þFŠé ö‹œyîû þ™y˜öì•Êy ~œy„þyëû xî!ßþi“þ !œ†˜y£zÝþ
…!˜öì“þ îy¢%!„þ ˜y›„þ î,£”y„þyîû ¢yöìþ™îû ‹#îyÙÂ þ™yçëûy ö†œÐ

31. (c) †yõþ#!‹
 †yõþ#!‹ !Šéöìœ˜ ¢“þÄy@ùÌ£ xyöì̈ yœöì̃ îû ²Ì!“þÛþy“þyÐ
 !“þ!˜ 1893 ¢yöìœ ”y”y xyî”%ÍÔy xÄyuþ ¢öìªîû xy£z̃ ‹#!î
!£öì¢öìî ”!Çþ’ xy!šÊþ„þyëû ëy˜Ð !šþöìîû xyöì¢˜ 1915 ¢yöìœÐ
 “þyîû îûy‹÷ì̃ !“þ„þ =îû& éôô ö†yþ™yœ „,þ¡Œ ö†y…öìœÐ

32. (c) îÄyþ™˜
33. (c) 1955 !…ÊÞÝþyöì·

 ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû !m“þ#ëû x•Äyöìëû (Part-II) 5-11 ˜‚
•yîûyîû ›öì•Ä ˜y†!îû„þcéôé~îû !î¡ìëû!Ýþ xyöìœy!‰þ“þÐ
 1955 ¢yöìœîû ˜y†!îû„þc xy£zöì̃  ˜y†!îû„þc @ùÌ£öì’îû 5!Ýþ
vþzþ™yöìëûîû „þíy îœy £öìëûöìŠéÐ
(i) ‹§Ã ¢)öìe (ii) vþz_îûy!•„þyîû ¢)öìe (iii) þ™O#„þîû’ myîûy
(iv) ßþºy¦þy!î„þ ²Ì!e«ëûy myîûy (v) ¦)þéôé…[þ x!•@ùÌ£’ myîûyÐ

34. (a) ¢yëûyöì̃ yöì„þyîyœy!›˜
 !¦þÝþy!›˜ B12 ‹öìœ oyîÄÐ
 !¦þÝþy!›˜ B12 ~îû šþöìœ þ™yîû!˜!¢ëûy› xÄy!˜!›ëûy £ëûÐ

 vþzê¢ éôôôé ›y‚¢– ›yŠé– ”%•– !vþ›– î,EþÐ vþz!qI vþzê¢ ö˜£z
îœöìœ£z ‰þöìœÐ

35. (b) ¢Á±!“þ ö˜þ™yœ 2024 ¢yö ìœîû öîû£ z˜ö ìîy Ý % þÄ!îû‹›
„þ˜šþyöìîûöìªîû xyöìëûy‹˜ „þîûœÐ

36. (d) îÄyíyéôéöî”˜y vþzþ™Ÿöì› „þÄy!šþ˜ (Caffein) ²Ìöìëûy‹˜Ð ~îû
vþzê¢ £öìFŠé „þ!þ™ ~îûy!î„þy ˜y›„þ „þ!šþ †yöìŠé ëy ¢y•yîû’“þ
ò!î˜ó ˜yöì› þ™!îû!‰þ“þÐ „þÄy!šþ˜öì„þ CNS !îî•Å„þ !£öì¢öìî
Ÿ˜y_« „þîûy £öìëûöìŠéÐ

37. (c) ö›y‡œ ¢ÁËyÝþ èîûDöì‹öìîîû ”îûîyöìîû !“þ!˜ ˜,“þÄ†#öì“þîû çþ™îû
!˜öì¡ì•yKþy ‹y!îû „þöìîû̃ Ð !“þ!˜ !Šéöìœ˜ Ÿy£‹y£yöì̃ îû þ™%e ç
²Ìí› Ÿy£ xy›˜éôé~îû !þ™“þyÐ !“þ!˜ 1707 !…ÊÞÝþyöì· þ™îûöìœy„þ
†›˜ „þöìîû̃ Ð

38. (c) x!“þe«yhsþ ”)îûc þ™!îû›yþ™ „þîûöì“þ çöìvþy!›Ýþyîû îÄî£yîû „þîûy
£ëûÐ ö„þy˜ç ëy˜îy£öì̃ îû x!“þe«yhsþ ”)îûc þ™!îû›yþ™ „þîûöì“þ
çöìvþy!›Ýþyîû îÄî£yîû „þîûy £ëûÐ

39. (a) ›y˜ %öì¡ìîû ‹˜Ä ×î’öìëy†Ä Ÿ· „þÁ™yöìBþîû ¢#›y ²Ìyëû
20 £y‹Åéôé20–000 £y‹Å þ™ëÅhsþ £ëûÐ

40. (c) ¢Á±!“þ ‘The Law and Spirituality : Reconnecting
the Bond’ !Ÿöìîûy˜yöì› î£z ²Ì„þyŸ „þîûöìœ˜ x•Äyþ™„þ îû›˜
!›_yœ ~î‚ x•Äyþ™„þ ¢#›y !¢‚Ð

41. (a) £yšþ!˜ëûy› „þyîÅy£zvþ £œ ~„þ •îûöì̃ îû !¢îûy!›„þ vþzþ™y”y˜ ëy
‰þîû› “þyþ™ ²Ì!“þöìîûy• „þîûöì“þ þ™yöìîûÐ †öìî¡ì’yëû ö”…y ö†öìŠé
~!Ýþ ²Ìyëû 3950°C þ™ëÅhsþ “þyþ™›yey ¢£Ä „þîûöì“þ þ™yöìîûÐ

42. (d) ²Õy!ÞÝþ„þ !ŸöìÒ îÄî£*“þ PVC Ÿ·!Ýþîû xíÅ þ™!œ!¦þ˜y£zœ
ö„Ïþyîûy£zvþ– ëy !¦þ˜y£zœ ö„Ïþyîûy£zvþ ˜y›„þ ›öì̃ y›yöìîûîû ~„þ!Ýþ
þ™!œ›yîûÐ

43. (d) LPG þ!¢!œuþyöìîûîû ›öì•Ä íyöì„þ î%öìÝþ˜– xy£zöì¢yî%öìÝþ˜ ç
ö²Ìyöìþ™˜Ð

44. (a) „,þ¡Œy ˜”#îû çþ™îû !˜!›Å“þ ˜y†y‹Å%̃  ¢y†îû î¤y•!Ýþîû !˜›Åy’„þyëÅ
1974 ¢yöìœ ¢Á™)’Å £ëûÐ ~!Ýþ 4,865 !›Ýþyîû ”#‡ÅÐ

45. (d) !¢öì̃ ›yöìÝþy@ùÌyšþyîû
46. (c) !¢!œ„þ˜ £œ ~„þ!Ýþ x•Åþ™!îûîy£#Ð x•Åþ™!îûîy£#îû öÇþöìe öîûy•

“þyþ™›yey î,!kþöì“þ £Éy¢ þ™yëûÐ
47. (d) ÷„þ!Ÿ„þ !e«ëûy £œ “þîûöìœîû ¢‚„þ#’Å ‹yëû†yîû ›öì•Ä !”öìëû

îy!£Ä„þ îœ Söë›˜ x!¦þ„þ¡ìÅ îœVéôé~îû ¢y£yëÄ Šéyvþüy xíîy
îy!£Ä„þ îöìœîû !îþ™îû#öì“þ ²Ìîy!£“þ £çëûyÐ

48. (c) ˜y£zöìe«y› †!àþ“þ £ëû  !˜öì„þœ ç öe«y!›ëûy› !”öìëûÐ ‹y›Åy˜
!¢œ¦þyîû †!àþ“þ £ëû  !˜öì„þœ– „þþ™yîû ç !‹‚„þ !”öìëûÐ

49. (b) îûyÜT Éþ™!“þ öœy„þ¢¦þyëû 2 ‹˜ £zDéôé¦þyîû“þ#ëû ¢”¢Ä ~î‚
îûy‹Ä¢¦þyëû ¢‚ßþ,ñ!“þ– e«#vþüyéôé¢£ !î!î• öÇþe öíöì„þ 12 ‹˜
¢”¢Äöì„þ ›öì̃ y˜#“þ „þöìîû̃ Ð

50. (c) ˜ÄyŸ˜yœ !vþöìšþª xÄy„þyöìvþ!›îû „þ›yuþÄyrÝþ !£öì¢öìî !˜ë%_«
£öìœ˜ =îû&‰þîû’ !¢‚Ð !“þ!˜ ¦þy£z¢ xÄyvþ!›îûyœ x‹ëû
ö„þyŠéyöìîûîû ßþiœy!¦þ!¡ì_« £öìœ˜Ð
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

51. (d) B

F
+4

D A C

H E G
+4 +4 +4

N

R

+4
P M O

T Q S

+4 +4 +4

52. (d) K

M
+2

W M T

X O U
+1 +2 +1

P

R

+2
S A Q

T C R

+1 +2 +1

53. (d) 7   :   48  ::  12   :   143

7  – 12 12  – 12

54. (a) 2

1  + 13

10 30 68 130 222

2  + 23 3  + 33 4  + 43 5  + 53 6  + 63

55. (b) 9 × 6 – 5 = 49
7 × 8 – 4 = 52
4 × 7 – 3 = 25

56. (b) F 6 I 9 O 15
A 1 J 10 K 11
E 5 M 13 R 18

  
  
  

6 + 9 = 15
1 + 10 = 11
5 + 13 = 18 = R

57. (c) ~…yöì̃  3 ~îû þ™yöìŸ 2, 6, 4 ~î‚ 5 xyöìŠéÐ
 3 ~îû !îþ™îû#öì“þ £öìî 1
xyîyîû 6 ~îû þ™yöìŸ 2, 3, 5 xyöìŠéÐ
 6 ~îû !îþ™îû#öì“þ £öìî 4
îy!„þ ”%!Ýþ ¢‚…Äy 2 ~î‚ 5 ~öì„þ xöì̃ Äîû !îþ™îû#öì“þ £öìîÐ

58. (c) E

G
+2

A R N

C T P
+2 +2 +2

N

P

+2
E A R

G C T

+2 +2 +2

59. (b) C

D

+1
O L L E G E

P M M F H F

+1 +1 +1 +1 +1 +1

S

T

+1
C H O O L

D I P P M

+1 +1 +1 +1 +1

60. (a)

20 !›

30 !›
50 !›

îy!vþü

„,þ¡Œ vþz_îûéôéþ™!Øþ› !”öì„þ £¤yÝþöìŠéÐ

61. (b)
63 54 45

–9 –9

63 9 54
54 9 45

  
   

~„þ£z¦þyöìî– 
29 20 11

–9 –9
     

29 9 20
20 9 11

  
   

62. (c) ski     rps   tri  =  ¢%̈ îû   îû!îîyîû   ¢„þyœ

the     sti   rps  = ²Ìöì“þÄ„þ   ›Dœîyîû   ¢„þyœ

ski     ptr   qlm  =  ¢%̈ îû   îy‹yîû  ßþiœ

 îû!îîyîûééôé~îû ö„þyvþ = tri

63. (c) ¦þy£zöìþ™y

þ™%îû&¡ì

xy£z̃ ‹#î#

64. (c) îûöì_«îû îû‚ òœyœó !„þhsþ œyœöì„þ îœy £ëû ò¢y”yóÐ

65. (b)

F

E D
C

L

B
A

G
H þ™yœÅyöì›öìrÝþîû ¢”¢Ä

@ùÌÄy‹%öìëûÝþ

îûy‹˜#!“þ!î”

!ŸÇþ„þ

66. (a) P + R – Q ~îû xíÅ £œ P £œ R ~îû öŠéöìœ ~î‚
R £œ Q ~îû ßþf# xíÅyê Q £œ P ~îû îyîyÐ

67. (c) +1A B ~î‚ –1Z Y
+1B C ~î‚ –1Y X
+1D E  ~î‚ –1V U

!„þlsþ– +1C D ~î‚ +1V W
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xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

68. (b) îûyhßþy š%þÝþþ™y“þ

!îÊ‹

69. (c)

F
A

C

G
B

D

E

H

70. (d) öëöì£“%þ ò•)›þ™yëû#ó ›•Äþ™”!Ýþ !îî,!“þöì“þ ~„þîyîûç î!^ùÝþ“þ £ëû!˜–
“þy£z ö„þyöì̃ y !˜’Åyëû„þ !¢kþyhsþ †,£#“þ £öìî ˜yÐ

71. (c) ~…yöì̃  ”%!Ýþ series xyöìŠé

(i) +2F H +2 +2 +2J L N
(ii) 6, 6 + 3 = 9, 9 + 3 = 12, 12 + 3 = 15,
15 + 3 = 18

72. (c) 162 : {(1 + 6 + 2) = 9 :: 310 : {3 + 1 + 0)
= 4}

73. (d) (5 × 3) + 4 = 19
(7 × 5) + 6 = 41
(6 × 4) + 5 = 29

74. (b) ¦þy£z
75. (b) ¦þy£zöìþ™y

76. (a) ~…yöì̃ – 1 2r rA P 1 1
100 100

      
  

îy– 30 1511050 P 1 1
100 100

      
  

îy– 130 8511050 P
100 100

  

îy– 100 100P 11050
130 85

  

îy– P = 10,000 ‹˜

77. (a) ¢›ëû (t) 80 100 8 31
1000 5 5 5


  


îŠéîûÐ

78. (a) •!îû– A, B ö„þ •yîû ö”ëû x Ýþy„þy ç C ö„þ (x + 800) Ýþy„þyÐ

B ~îû öŸyöì•îû þ™!îû›y’ 
x 5 5 125xx

100 100
 

   Ýþy„þy

C ~îû öŸyöì•îû þ™!îû›y’

=    x 800 7 5 135(x 800)x 800
100 100

   
    Ýþy„þy

~…˜– 
 135 x 800 125x 1240
100 100


 

îy– 135x + 108000 – 125x = 1240 × 100
îy– 10x = 124000 – 108000

îy– 
16000x 1600

10
 

B ~îû •yîû = 1600 Ýþy„þy– C ~îû •yîû = (1600 + 800)
= 2400 Ýþy„þy

79. (b) 1!Ýþ œöì‹öìªîû !îe«ëû›)œÄ 
5

12
  Ýþy„þy

1!Ýþ œöì‹öìªîû e«ëû›)œÄ

5 100 5 100 125
12 100 4 12 96 288

    


 Ýþy„þy

28% œy¦þ öþ™öì“þ £öìœ 1!Ýþ œöì‹öìªîû !îe«ëû›)œÄ
125 100 28 125 128 5
288 100 288 100 9

      
 

 Ýþy„þy

10 Ýþy„þyëû œöì‹ª !îe«ëû „þîûöì“þ £öìî
10 185
9

  !Ýþ

80. (c) oîÄ!Ýþîû e«ëû›)œÄ 
1008800

100 10
 


Ýþy„þy

       1008800 8000
110

   Ýþy„þy

15% œy¦þ „þîûöì“þ £öìœ vþz£yîû !îe«ëû›)œÄ £öìîéôôôé
1158000 9200
100

   Ýþy„þy

81. (c) •!îû– oîÄ!Ýþîû e«ëû›)œÄ = x Ýþy„þy
²ÌÙÀy˜%¢yöìîû–

2x 25 x 20 2 1 201 x 3312
3 100 5 100 3 5 100

         
 

îy– 
x x 2x 3312
6 25 75
  

îy– 
25x 6x 4x 3312

150
 



îy– 23x = 3312 × 150

îy– 
3312 150x 21600

23


  Ýþy„þy

82. (b) !›×öì’îû þ™!îû›y’ 
1 5 4 1
2 8 6

   
 

x‚Ÿ

83. (d) ›•Ä ¢›y˜%þ™y“þ# 
1 1 1
4 36 12

  
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

84. (a) •!îû– îÄyöì† 1 Ýþy„þy– 50 þ™ëû¢y ç 25 þ™ëû¢yîû ¢‚…Äy ëíye«öì›
5x, 6x ç 8x

¢%“þîûy‚ ö›yÝþ Ýþy„þy 
50 6x 25 8x5x

100 100
     

 
= (5x + 3x + 2x) = 10x Ýþy„þy
 10x = 210
îy– x = 21
 25 þ™ëû¢yîû ¢‚…Äy = 8 × 21 = 168!Ýþ

85. (b) •!îû– A ç B ~îû öî“þ˜ ëíye«öì› 3x ç 4x ~î‚ ›y!¢„þ
…îû‰þ 4y ç 5y

¢%“þîûy‚– 3x – 4y = 3x ×
1
4

îy– 12x – 16y = 3x
îy– 9x = 16y

îy– 
9xy
16



~…˜– 
A-~îû ¢Mþéëû
B-~îû ¢Mþéëû

9x 9x3x 4 3x3x 4y 16 4
9x 45x4x 5y 4x 5 4x
16 16

  
  

   

3x 16 12 :19
4 19x

  

86. (c) ŸÄyöì›îû xyëû îûyöì›îû xyëû öíöì„þ „þ›éôôôé
20 100 %

100 20
    

20 50 2100 % % 16 %
120 3 3
     
 

87. (c) •!îû– ¢öìîÅyF‰þ ˜Áºîû = x

²Ìí› Šéyöìeîû öÇþöìe þ™yŸ ˜Áºîû 
25 xx 60 60

100 4
    

!m“þ#ëû Šéyöìeîû öÇþöìe þ™yŸ ˜Áºîû 
50 xx 40 40

100 2
    

²ÌÙÀy˜%¢yöìîû– 
x x60 40
4 2
  

îy– 
x x 60 40
2 4
  

îy– 
x 100
4


îy– x = 400
88. (d) ²ÌÙÀy˜%¢yöìîû–

5 4A B
100 100

    
 

6 8 2A B
100 100 3

      
 

îy– 
15A 12B 12A 16B

100 100
 



îy– 15A – 12A = 16B – 12B
îy– 3A = 4B

îy– 
A 4
B 3


îy– A : B = 4 : 3
89. (c) P ~îû 50% = Q ~îû 25%

îy– 
50 25P Q

100 100
  

îy– 
P Q
2 4


îy– 
QP
2



~…˜– 
x QQ

100 2
   [P = Q ~îû x%]

îy– 
100x 50%

2
 

90. (d) •!îû– C ~îû xyëû = x Ýþy„þy
 B ~îû xyëû = 3x Ýþy„þy
~î‚ A ~îû xyëû = 3x × 2 = 6x Ýþy„þy
 x + 3x + 6x = 2000 × 3
îy– 10x = 6000 îy– x = 600
 A ~îû xyëû 600 × 6 = 3600 Ýþy„þy

91. (d) öÝþÆ̃ !Ýþîû †vþü öî† 
40 30
40 30
80 60

 
 

  
 
 

 !„þ!›/‡^ùÝþy

70
1 1
2 2

 
 

  
 
 

 = 70 !„þ!›/‡^ùÝþy

92. (b) 39 ‹öì̃ îû ö›yÝþ îëû¢ = 39 × 15 = 585 îŠéîû
!ŸÇþ„þ ë%_« £çëûyëû ö›yÝþ 40 ‹öì̃ îû †vþü îëû¢ £ëû

3 6115
12 4

    
 

 îŠéîû

40 ‹öì̃ îû ö›yÝþ îëû¢ 
6140 610
4

   îŠéîû

!ŸÇþöì„þîû îëû¢ = (610 – 585) = 25 îŠéîû

93. (b) 6, 7, 8, 9 ç 12 ö¢öì„þuþéôé~îû œ¢y= = 504 ö¢öì„þuþ
~…˜– 1 ‡^ùÝþy = 3600 ö¢öì„þuþ
 1 ‡^ùÝþy ¢›öìëû “þyîûy œÇþÄ›yeyëû ›yîûöì“þ þ™yîûöìî

3600 50 17
504 7 7

    îyîû
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94. (d) ~…yöì̃  ¦þy‹„þ ç ¦þy†öìŸöì¡ìîû ›öì•Ä þ™yíÅ„þÄ = (3 – 1) =
2, (4 – 2) = 2, (5 – 3) = 2, (6 – 4) = 2 ç
(7 – 5) = 2
¢%“þîûy‚ 3, 4, 5, 6 ç 7 ~îû œ¢y= = 420
 !˜öì’Åëû Ç%þo“þ› ¢‚…Äy!Ýþ = 420 – 2 = 418

95. (d) 1 3 5 9972 2 2 ... 2
3 5 7 999

             
     

5 7 9 1001 1001...
3 5 7 999 3

     

96. (a) 10 !œÝþyîû !›×öì’ ‹öìœîû þ™!îû›y’ 
110 2
5

   !œÝþyîû

xÄy!¢öìvþîû þ™!îû›y’ 
410 8
5

    !œÝþyîû

•!îû– x !œÝþyîû xÄy!¢vþ ö›Ÿyöì̃ y £œ

¢%“þîûy‚– 
2 1

8 x 5



îy– 8 + x = 10
îy– x = 2
 2 !œÝþyîû xÄy!¢vþ ö›Ÿyöì̃ y £œÐ

97. (d) •!îû– A, B, C ~îû xyëû ëíye«öì› 7x, 9x ç 12x ~î‚
îÄëû 8y, 9y ç 15y

~…˜– 7x – 8y 7x
4



îy– 28x – 32y = 7x
îy– 21x = 32y

îy– 
21xy
32



A ~îû ¢Mþéëû 7x
4



B ~îû ¢Mþéëû 
21 99x9x 9y 9x 9
x 32

     

C ~îû ¢Mþéëû 
21x 69x12x 15y 12x 15
32 32

     

A, B, C ~îû ¢Mþéöìëûîû x˜%þ™y“þ

7x 99x 69x: : 56 : 99 : 69
4 32 32

 

98. (d) C ÝþÄyBþ!Ýþ …y!œ „þöìîû 
1 51
4 4
  ‡^ùÝþyëû

ÝþÄyBþ!Ýþ A ç C þ™y£zþ™ myîûy 2 ‡^ùÝþyëû ¦þ!“Åþ £ëû
4 22 1
5 5

    
 

x‚Ÿ

B ç C þ™y£zþ™ myîûy 1 ‡^ùÝþyëû …y!œ £ëû 
4 1 3
5 2 10

  

x‚Ÿ
2
5  x‚Ÿ …y!œ £ëû 

10 2 4
3 5 3

    ‡^ùÝþyëû

= 1 ‡^ùÝþy 20 !›!˜öìÝþ

!˜öì’Åëû ¢›ëû 9 AM + 2 ‡^ùÝþy + 1 ‡^ùÝþy 20 !›!˜Ýþ
= 12 : 20 PM

99. (c) A ~„þy ç£z „þy‹!Ýþ öŸ¡ì „þîûöìî 
33 5 33 5 11

33 18 15
 

  


!”öì̃
100.(c) •!îû– þ™”îÊöì‹ x !„þ!› ëyëû

 ¢y£zöì„þöìœ ëyëû = (61 – x) !„þ!›

²ÌÙÀy˜%¢yöìîû– 
x 61 x 9
4 9


 

îy– 
9x 244 4x 9

36
 



îy– 5x = 324 – 244
îy– 5x = 80
îy– x = 16

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


